INTERMEDIATE EXAMINATION — 2019 (ANNUAL)

Sl. Code :- 217 I.Com.

Model Set
Business Studies (Fauif¥yi® 3ead)

ghenfefal @ fery 3o —

Instructions for the candidates :-

4 ermefl yAUTIg 31U el H & IR < |
Candidates are required to give their answers in their own words
as far as practicable. ‘

2 e ok BRA W R gy sie e A wwd )

Figures in the right hand margin indicate full marks.

3. 9 U &I HYdd e & fore 15 fme &1 aifaRaa g\ fear war 2
15 minutes of extra time has been allotted for the candidate to
read the questiqns carefully.

4 I8 YU 3T WSl § B, WUS—3 Ud EUS—9 |
This question paper has two sections : Section-A and Section-B.

5. Wug—a1 # 50 IS U € | w1 ueA sifrard €|
s & faw 1 e PR 2, 9@ IR Suael S ™ OMR—3fle
§ R T WS ga @ P /A dd 0 Y ) AR Rt R ®



®ge R /T el /=ls /g e &1 OMR ¥fie # WART &A1 #7410
2, gl qder R MR B )

In Section-A, there are 50 objective type questions which are
compulsory, each carrying 1 mark. Darken the circle with
black/blue ball pen against the correct option on OMR Sheet
provided to you. Do not use Whitener/Liquid/Blade/Nail on OMR
Sheet, otherwise the result will be treated as invalid.

Yug—q # 25 AYITIY U 2, R O fF=i 15 gl & SR o
afvard 2 e wed & fow 2 ofe fuiRa 2 v aifdReq @ve—1
# 08 &I STy ued M Ry 7y 2, o 4 6=l 04 gedl & IR <0
arfrard 8 |yl we & for 05 siw fwiRa 2 |

In Section-B, there are 25 Short answer type questions, out of
which any 15 questions are to be answered. Each question carries
2 marks. Apart from this, there are 08 Long answer type questions,
out-of which any 04 of them are to be answered. Each question
carries 5 marks.

feft v @ saeiffe—aa &1 gxwHa afsla 2

Use of any electronic device is prohibited.



Us—3 (a¥ifss yuA)
SECTION — A (Objective Type Questions)

T W 1 W 50 06 RIS e ¥ e @ R fiwed Ry o ¥
W@wwﬁﬁimﬁmgﬁﬁﬂﬁﬁmﬁomwsﬂawﬁ%ﬁﬁl
T W B Y 1 o PriRT 21 [50x1=50]

Question No.- 1 to 50 have four options provided, out of which only

one is correct. You have to mark, your selected option, on the OMR-Sheet.

Each question carries 1 (one) mark. [50x1=50]
1, Ua & AR & —
A. IH=g B. 9o
C. wIfthar D. 3

The essence of management is :-
A. Co-ordination B. Organisation
C. Staffing D. All of these

2. T8 anfdfe Hifa & —
A. IERIHRIT B. fsiiawor
C. d¥dIRor D. 3

New Economic Policy is :

A. Liberalisation B. Privatisation



C. Globalisation D. All of these

HTeq yfshar & wen & —
A 2 B. 4
C. 6 D. 8

The organization steps are :-

A 2 : B. 4
C.6 D.8
mwm%:— -

A. =g B. fafaa
C. waq D. 3 &+t

Training is a process :-

A. Current B. Regular

C. Continuous D. All of these
=0T 3mavgs 8 — -

A. BIC IUFH H B. #2749 SumH #
C. 93 JumHA # D. g9 &+

Controlling is necessary in:-

A. Small Enterprise B. Medium Enterprise



C. Large Enterprise D. All of the above

qge faxig e &) feman & —
A. FYeTdr B. aReTar
C. faafyar D. 3 9t

Characteristics of a sound financial planning are:-
A. Simplicity B. Liquidity
C. Economy D. All of these

fa=ira wser &1 gorm o @ —
A. dIY B iRy B. fa<ita gafgHT=
C. fa=ira oo D. 359 9 &I 78

First Function of financial management is :-

A. Procurement of fund B. Financial forecasting
C. Financial Control D. None of these
TGI8 —

A. Uo® B. smavas

C. FTavas D. 19 &I gqid)

Co-ordination is :-

A. Voluntary B. Necessary



10.

11.

C. Unnecessary D. Wastage of time

ISt waer 31 a@mat F 2y &
A gfE -B. T
C. ®Ig yrg & D. gar

By Scientific Management; profits are :-

A. Increased B. Decreased

C. Not affected D. Revival

W@Wwaﬁuﬂﬁaaﬂﬁﬁﬁ
A. anfefes Hify “B. P& yurrel
C. anfefe fawrg D. ¥ &+

Economic Environment of business is influenced by :-

A. Economic policy B. Economic system

C. Economic development  D. All of these

A 91 g4y &7 B. &9 yaee @y
C. ST—YaYy P D. g9 & &7

Staffing is the responsibility of --------e---

A. Lower management B. Middle management



12.

13.

14.

C. Top management D. All of these

Siel 3R 8 B IR P @ ger $o
A. 08 B. 06
C. 04 D. 02

According to George R. Terry, The type of planning are :-

A. 08 B. 06

-

C. 04 D. 02

WIS HETH -8 & —

A FH=g H B. wl9er # gfy
C. ¥rR 4 gfy D. fawr # gy

An organization is not helpful for :-

A. Co-ordination _B. Contributes to morale
C. Increase in corruption D. Incentive to growth
HHATRIT BT gfdreror & —

A. JTegH B. s™ravas

C. ffvrard D. &9 &1 gafd)

Employees Training is :-

A. Necessary “B. Unnecessary



15.

16.

17.

C. Compulsory D. Wastage of Money

e sHaRal 9 w9 & —
A. 3T TR B. #eg9 wR
C. 4 = -D. 39 i R

Direction is related to employees :-
A. Top level ' B. Middle level

C. Lower level D. All level of above

e ufehar # fAfgg 2 —
A. THF BT BT ARG B. &1 &1 famrer
C. wd wfeall 3 & | D, 3w

Organising process involves:-

A. Grouping of indentical work.

B. Division of a work

C. Assigning work to appropriate persons
D. All of these "

R Yol &1 avgsar gy & —
A. < at & qram B. 44 wied & farg
C. 4% H T &=+ & forw D. *FeRl & Tam & fog



18.

19.

20.

Fixed capital is required for -

A. payment of routine expenses B. purchase of land

C. Depositing in bank D. Payment to creditors
el fEe R -

A. ST B B. 3m=iRR& =murR @t

C. USit 9TIR &7 | D. ©¥&R

SEBI is controller of :- »
A. Production B. Insider trading
C. Capital marketing D. Government

ST GO B BT T T & —
A STRag B. @
C. ISR D. =g

Entrepreneurship is an effort fo create -
A. Risk B. Profit

C. Jobs D. Business

IRT § FRRT IR—IRBRT 6T & —
A drgq B. &9 ®fa

C. Atd B gl D. s & &g =7



21.

22,

23.

Working non-government organization in India is:-

A. VOICE B. Common Cause
C. A and B both D. None of these
fauor &1 v § -

A. SUHTEIRIT Pl B. wawriial &l

C. foHfamat &t : D. g w1 &I

The Advantage of marketing is to :-

A. Consumers B. Businessmen
C. Manufacturers D. All of these
i Hy | Fﬁﬂﬁ‘ﬁ T8 T -

A. aer Yoft B. d& =l

C. 99u H1N D. afer Ny

Onwner’'s Fund does not include :-

A. Share Capital B. Bank Loan

C. Reserve Fund D. Share Premium
oafeiT 8 -

A aifard B. 3Maedd

C. vfeo® D. g9 &I gdidl
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24.

25,

26.

Labelling is :-

A. Compulsory B. Necessary

-

C. Voluntary D. Wastage of Money

SUHIIT HReT0T ARIFrH F Iwaar & PR £ -
A. 08 B. 07
C. 06 - D. 10

Consumer rights under Consumer Protection Act. are -
A. 08 . OF
C. 06 D. 10

W B qrTe Ud e e ufawe § —
A, SEfEr B. e
C. wareH D. ¥R

Social and economic development of a nation is the result of :-

A. Entrepreneur "B. Planning
C. Operation D. Government
fasma= fasar s & —

A Zaarg & fae & g B. faxira =gazen & farg
C. fasma Haedq & farg D. SH-3u® & forg



27,

28.

29.

Advertising is done for:-
A. Development of business B. Financial management

C. Sales promotion D. Public relations

ﬁmmﬁwaﬁwﬁwwmaﬁ?ﬁ?:-
A TH Ty B. g1 o9
C. vt 7 ' D. 7w a9

Maximum period of treasury bill is :-

A. One year B. Two years

C. Five years D. Ten years
TdeTor B —

A. 3Tgeg®H _B. 3ravgs

C. 999 o gafd) D. 559 & &1 =)

Supervision is :-

A. Necessary B. Unnecessary
C. Wastage of time D. None of these
fFre=or #rf & -

A. TdeTh @ “B. famar &t

C. 999 &1 D. &H=nfRay &y



Controlling is the function of :-
A. Supervisor B. Sales man

C. Manager -D. Employee

Y9 Ufshdr & TR & —
A. 07 B. 09
C. 06 ' D. 10

Steps Involved in selection process :-

A. 07 B. 09
C. 06 D. 10
HHATRGT &) WeoT R iR Fwar & —
A. fvmfrg Fmeq B. silu=mlRe wHired
C. fehara Hred D. HIy=mRe Hired

Depends on the sweet will of employees :-

A. Divisional organisation B. Formal organisation

C. Functional organisation D. Informal organization

e w8 8 -
A. AFRIF HERd B. 3 <@+ gral
C. 99 & qare] D. Tg9 ufshar

13



33.

34.

35.

Planning is not :-
A. Mental exercise B. Forward looking

C. Wastage of time D. Choosing process

fddt ¥ <o & o ¥ savgear & —
A. 9iIfds aeEr B. anfefes W=t @
C. |t yder o1 | D. 37 99 &t

The need in development of a country is :-
A. Physical resources B. Economic resources

C. Efficient management D. All of these

uee @ 14 gl @ ufaues -
A BT BT B. th0 T TeR
C. fier g _D. To vg Aoy

14 principles of management is propounded by :-
A. Henary Feyol B. F. W. Taylor
C. Peter Drucker D. A. H. Maslo

Wﬁ@ﬁlé@?”iﬂ%%?&ﬁ%:—
A. 9%he B. 3%ha

C. aM= D. g ¥ B T8

14



36.

37.

38.

Liberalisation policy in India has been :-

A. Successful B. Unsuccessful
C. Normal D. None of these
BEISEREE . -

A. Seeg giftg # B. sy #

C. gurdl fAgzor # D. g7 &1 #

Planning is helpful to:-

A. Achieving objectives B. In co-ordination
C. Effective controlling D. All of these
URFRITT Y&eT H AP B Aorg) &) arel & -

A. oA B. aiferes

C. 9= D. JfSraan

Wages given to workers in Traditional Management are :-
A. Low B. High

C. Normal _D. Maximum

=1 & &9 Hres & qeor T8 @ -
A. R 1 8 B. =i &1 wE

C. U X[ D. T ufshar

15



39.

40.

41.

Which of the following is not features of organization :-

A. Group of Individuals B. Group of Machine
C. A Structure D. A process

PHAN AT BT Sevm & —

A. Trar # gfy B. #I fasyres

C. UgIIfa & araar D. & &+

Objective of employee’s development is -
A. Increase in knowledge B. Better performance

C. opportunity of promotions D. All of these

= B 7l @1 9 g TS E -
A. TRITFTROT B. gwgey vt
C. /g ol D. 3o wdf

Which of the following is not external sources of recruitment:-

A. Transfer of employees B. Direct recruitment

C. Campus recuitment D. Contractual recruitment
HRYAET B YBR & —

A. farfRag B. #ifta®

C. 3iu=nie D. SWRIFT ¥

16



42.

43.

44,

Type of communication are -

A. Written B. Verbal

C. Formal D. All of these
Bl ®

A. Fgorar -B. EREIRGI

C. arfargar | D. & it

The leader possess :-

A. Intelligence B. Foresightness
C. Self-confidence D. All of these
THTd! FReTaTEd § 9T @ SUALT T gFT TRy —
A e B. gwrdy

C. g D. wrref=

In - effective communication language should not be :-

A. Express B. Impressive
C. Ambiguous D. Courtesy
=T &1 e ey 2 - -

A. faRier B. wefy

C. yg=< D. 379 9 &1¥ 78

17



45.

46.

47,

Controlis ......... by employees.

A. Opposed _B. Supported

C. Liked D. None of these
PRI o &7 &g & —

A. TR B. 9% arfdifaey
C. 9¥< famy D. SWRigd |«

The sources of working capital are :-
A. Debtors "B. Bank overdraft
C. Cash sales D. All of these

IO II9IR IR Heer & —
A. BT BTy B. #erehrelld @iy
C. <re®Tei By D. & W &1 &

Capital market deals in -

A. Short term funds B. Medium term funds
C. Long term funds D. None of these
faxfir yeeres ol orer & —

A. fa=ig B. fafeamr

C. amrer D. Sudaa i

18~



48.

49.

50.

Financial manger takes decision as to :-

A. Finance B. Investment
C. Dvidend D. All of above
ST HReTT iR wiRe far

A. 1886 -B. 1986

C. 1996 D. 1997

Consumer Protection Act was passed :-

A.In 1886 B. In 1986

C. In 1996 D. In 1997

WRA # SUHIET BT FRimg var 2 -

A. A% "B. 3%

C. QUR 31 rawaesar D. 7% 9 #1F 72

In India, entrepreneurial development programme has been :-
A. Successful B. Unsuccessful
C. Need of improvement D. None of these

faqor sraeRom @1 AR @
A. 9ATS & forg B. SuHraame & forg
C. Sue® & forg D. 37 9 & forg

19



Importance of Marketing concept is for -

A. Society B. Consumers

C. Producers ‘D. All of above



vs—4 (I—awfs yw=)

Section-B (Non-Obijective Type Quesitons)

oY S99 93 (Short Answer Type Questions)

WW1@25WE§WW$W§JW®W15W$W
<1 TS g B R 2 o PR £ (15x2=30)

Question no. 1 to 25 are Short answer type questions. Answer any 15 out of

them. Each question carries 2 marks. (15x2=30)

1 UEE b R BT AW ford |
Write the name of the level of management.
2 v @ fagr @ wef @ el de figet 31 )
Write any three points of the n‘ature of principles of management.
3. AAF AR & ol aR gedt & A9 fared |
Write the name of any four factors of business environment.
4, IS Gaer & sl =R o B A o
Write name of any four merits of scientific management.

5, Wu%wa%anwwﬁ?mqa%amaﬁaﬁﬁaﬁl

State any two types of planning on the basis of level of

management.
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10.

1.

12,

13.

14.

15.

WST & Wew & AR favgai @) sifbad @Y

State any four points of importance of organization.

TIATT H WIS B uia amt b1 A o |

Write the name of any five advantage of organization in business.
Udh e A P BIS d o7 9aTsy |

State any three qualities of a good leader.

P R GRET & Rl < AR @ g oY)

State name of any two methods of ‘on-the-job training.

FIEE B S I armsit @y sifeg N |

State any three barriers of communication.

TR B AEw B < it B fored |

State any two headings of the importance of supervision.

yaa # G @ AEd B AR DT @y ford |

Write any four headings of the importance of control in
management.

ﬁWa%W?ﬁH%W/Wﬁaﬁaﬁwaﬁﬁaﬁl

Write name of any three methods /techniques of control.

98 g1 forg S et el e fatra Pt o A forgt

Write the name of any three financial decisions taken by

management.

Ui~ H wfafard aR ucat @1 W ford |



16.

17.

18.

19.

20.

21.

22.

23.

24,

25,

Write the name of any four factors which include in capital

structure.
iﬁﬁﬁﬁﬁﬁwﬁaaﬂ#mﬁ%ﬁﬁﬁmﬁwaﬁl
Name the two factors affecting capital structure.
focha oo™ & st ar Bt @y Elnicad
State any four functions of financial market.
B B BT o

Write the two headings of the function of SEB|.
fasmm & foodi ar =t o7 fored |

Name any four media of advertisement.

TP 3 A% & frl <) Rerva garet

State any two characteristics of a good brand.

wﬂwﬁwmzﬁqa%a‘rmﬁﬁﬁﬁﬁr

State any two objectives of consumer protection programme.

SEMA & 5 < fvhvarsi &) sifpa @y |

State any two characteristics of entrepreneurship.
WW@WW{%WWH&WW|
Name the needs which should be satisfied first.
fosms & 1 & o7 qared

Write any three merits of advertising.

?Witrﬁaﬁmawﬁa%éﬁmwwﬁm

Name any three sources of raising fixed capital.

23



O Sy gy (Long Answer Type Questions)

Question no. 26 to 33 are Long answer type questions. Answer any 4 of

them. Each question carries 5 marks. (4x5=20)

26,

27,

28,

29,

30.

31.

32.

femfia wrea @ 27 gway 9= f9vary qargy |

What is divisional organization? State its main characteristics.
fe=a~ & wee o) we PIFTY |

Explain the importance of decentralization.

IR 1 AT Rl 3 v % wre @)

Explain in brief the various methods of training.

R & 7o @ fgemy o

Discuss the importance of directing.
@ﬁﬁﬁﬁmwwsﬁaﬁwaﬁa}ﬁﬂﬁmmaﬁmwﬁ
$ forg aRa e @

Explain any four needs that motivate an employee to work.
falia wderd & st o7 quig PIFY |

Explain the functions of financial manager.
Eﬁ?ﬁaiﬁﬁﬂ%‘?%ﬁm?ﬁﬁaﬁm??

What is working capital? How js it calculated?



33. fauvm & 5 dfg erit & @ Y
Explain any five functions of marketing.




